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2021

GEOGRAPHY — GENERAL
Paper : GE/CC-4
(Cartography)

Full Marks : 50

Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicate full marks.

Category - A

Answer any five questions. (each within 50 words) 2x5

. If 10 cm distance on the map is represented by 5 km on the ground, what will be the R.F. of the map?

. What is the magnetic declination?

If the F.B. (Forward Bearing) of a line AB is 235°35’32”, calculate the B.B. (Backward Bearing) of
that line.

If whole circle bearing of a line PQ is 295°38’39”, calculate the R.B. (Reduced Bearing) of that line.
What is the main difference between Mercator’s and UTM projection?

What are the latitudinal and longitudinal extensions of a topographical sheet having R.F. 1: 50,0007
Mention any two differences between isopleth and choropleth maps.

If CL (Collimation Line) is 7.000 m and SR (Staff Reading) of a particular point is 1-155 m what will
be the RL (Reduced Level) of that point?

Category - B

Answer any four questions. (each within 150 words) 5%x4

. Distinguish the Polar and Rectangular Coordinate Systems with suitable examples.

Mention the latitudinal and longitudinal zoning system of UTM projection.
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What is FCC? Explain the principles of preparing standard FCCs.

Distinguish the raster and vector data and explain the different types of vector data.
Explain the reference scheme of open series Survey of India topographical maps.
Explain the functions of NATMO.

Explain the major services of NRSC.

Category - C

Answer any two questions. (each within 500 words) 10x2

Classify the different types of map projections with suitable examples.

Classify the different types of satellites and explain their characteristics with suitable sketches and
examples.

What are the different parts of Prismatic Compass and explain the use of its different parts.

What is the instrument used for levelling survey? Draw a labelled diagram of it and explain the use of
its different parts.




